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In RAN 3 meeting #31, Lucent highlighted an issue [R3-021921] with a statement (in procedure text for Common Transport Channel Setup) in TS25.433, section 8.2.1.2 that strongly couples the Radio Network Layer and the Transport Network Layer.
The contributions seeked to remove an inconsistency between TS 25.430 and TS

25.433 with respect to the resource operational state of a Common Transport

Channel. The issue there is that TS 25.430 defines the operational state as

Enabled after a successful Common Transport Channel Setup procedure while

TS25.433 defines the operational state as Enabled only after the Transport

Bearers are established – see text below:
After a successful procedure and once the transport bearers are established, the configured common transport channels and the common physical channels shall adopt the state Enabled [6] in the Node B and the common physical channels exist on the Uu interface.
The exact nature of the problem is further captiured and accurately described in the email from Yann Sehedic of Nortel Networks on 13th February 2003 at 10:18am (GMT) (see annex for details).

The proposed solultion was to remove the highlighted text from the above paragraph. No concensus could be reached however and an open issue was created to study this topic further. During RAN3#33 further contribution was provided (R3-022449) on the topic but due to time constraint no discussion took place during the meeting.  However, Lucent took on an action to start an email discussion on the issue.

Up to now the following statements/views has been expressed on the email reflector:

· Ericsson prefers, if needed, to change 25.430, which is a specification we have not reviewed so often, instead of changing a stage 3 specification so late (as this change would have to be a very late R99 change to NBAP).  “When it comes to tieing the TNL and RNL, there is the inherent fact that you need Iub transport bearers if you want the channels to be up and running, but please notice that transport bearer is a RNL concept, not a TNL one, therefore by aligning 25.430 to NBAP and keeping the terminology mentioning 'transport bearers' we don't really have any problem with the TNL/RNL separation.”
· Alcatel asked for a clarification of about the regarding the statement in the contribution that the passage in TS25.433 violate ITU specifications. Alcatel would agree to this but sees this not as the only point where NBAP is not fully ITU-T X.731 compliant. Lucent agreed to this view. Alcatel also asked for clarification of the proposed changes to TS25.430. The reponse from Lucent to this was that during offline discussion at RAN3#33 it had been proposed to leave the definition in TS25.430 as is and add a clarifying note if necessary.

· Nortel agrees to Lucents view and supports changing TS25.433 to align it to TS25.430 (see annex for details).

· Lucent agreed with Yann's comments and still believe that NBAP should be changed and not TS25.430.

--------------ANNEX----------------

From: Yann Sehedic [mailto:sehedic@NORTELNETWORKS.COM]
Sent: 13 February 2003 10:18 AM
To: 3GPP_TSG_RAN_WG3@LIST.ETSI.ORG
Subject: Re: [Resource status] email discussion kickoff
Hi everybody,
Last email on the topic was old enough, but since I was involved in some of the offline discussions during the last meeting...
To me, the actual question is only a question of principles on whether we should tie the "Enabled" state of the CTCH object to the successful establishment of the transport bearer (NBAP approach) or not (25.430 approach) for the ATM Transport.
In the following, I will be talking about CTCH only, but the same is applicable to Cell Setup procedure. 

If we are to follow the current NBAP R99 specification, then strictly speaking, what should happen is that: 
- The CTCH Object is first "Not Existing". 
- Once the CTCH Setup procedure is successfully completed in the Node B, the CTCH Object is currently in an "Unknown" state: as the transport bearers are not yet successfully established, it cannot be in the "Enabled" state, according to current the NBAP spec and it cannot be considered as "Not Existing" anymore. So, it should be in the "Disabled" state (only remaining possibility). However, a transition from the "Not Existing" state to the "Disabled" state does not exist currently in TS 25.430.
- Furthermore, once the transport bearers are successfully established in the Node B, then the CTCH Object moves to "Enabled" state and this transition should be signalled via the RESOURCE STATUS INDICATION message according to NBAP (and TS 25.430).
However, I don't think that the intention of the specification is to have that kind of behaviour. In my opinion, the original intention was that the state in the Node B at the end of the CTCH Setup procedure would be "Enabled", just as it is described in TS 25.430.
What we really have to be careful about is that 25.430 describes the "state machine in the Node B as reported to the CRNC", not the state machine in the CRNC. State machine in the CRNC (with regards to the actual usage of the CTCH) will probably have to take into consideration the Successfull outcome of the ALCAP transaction, however, this is a matter of CRNC implementation, not subject to standardisation.
So, I support Lucent in aligning the NBAP specification on TS 25.430. 

Note: I don't think that IP transport is a real problem: if we are to keep the NBAP specification as is for ATM, then this particular issue could perfectly be handled by adding (just as we have done in the Semantics Description of messages impacted in Rel-5) something like "if bearer establishment with ALCAP" at the end of the sentence that states "[..] and once the transport bearers are established". This is a typical Rel-5 correction.
Best Regards 
Yann 

